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WORD OF THE DAY

COUNTER

(ADJECTIVE): (ﬁlﬂﬂ‘): opposing

Synonyms: opposed, opposite

Antonyms: complementary

After years of argument and counter argument
there is no conclusive answer.



WORD OF THE DAY IMAGE




ERROR DETECTION




1. The judge asked the man (1)/if the bag he had

lost (2)/contain five thousand rupees. (3)/The
man replied that it did. (4)/No error (5).

(3)In this case,
Event one—> contained five thousand rupees

Event two —>bag he had lost
Look at the following sentence:

John had gone out when I arrived in

{ d
Event two Event one
\ \

Past Perfect Simple Past



2. Had he done (1)/his home work well (2)/he would not

have (3)/suffered this embarrassment. (4)/No error

(5) No error.



3. He was angry with me (1)/because he thought my
(2)/remark was (3)/aimed before him. (4)/No error

(4) We use aim at and not aim before. Aim at is [
a phrase that should be used here.

Look at the following sentences:

(1) The government is aiming at a 50% reduction
in unemployment.

(i))They're aiming at training everybody by the
end of the year.



4. As you know(1)/ by my visiting card(2)/I am
now(3)/in Mumbai(4)/No error(5).

(2) by will be replaced with from

know follows from when the source is recognized.
know from means to know about something

Look at the following sentences:

I came to know from her mother that she was out

of town.



=
5. With a fresh coat(1)/ of paint(2)/ the school can(3)/
look much nice(4)/ No error(5)

(4) Look much nice should be replaced with look very
nice. It should be noted that very is used to modify
Adjectives and Past Participles used as Adjectives

Look at the following sentences:

(DI am very hungry. (Adjective)



Areas of agreement includes efforts to (A) / combat
increased militant activity in (B) / the region, after
deadly (C) / suicide bomb blasts in Sri Lanka in
April. (D) / No error (E)

Correct Option: A

The subject ‘areas’ is plural and should be used with
a plural verb. The verb form ‘include’
should be used instead of ‘includes’ in
order to make the sentence correct.



DOUBLE FILLERS




7. To attain intercultural a person should be
sensitive to his own cultural nuances and also learn to
see how similar or different they are to the cultural
practices among those in other cultures.

A. unity, supplementary
B. support, predominant
C. harmony, accepted
D. integration, prevalent
E. goodwill, principal




8. India’s manpower and Finland’s high-end
tech should be leveraged under the ‘Make in
India’ initiative.

A. gauche, technology
B. skilled, prowess

C. sundry, means

D. abundant, allowances
E. countless, access




9. Because she had a reputation for we

were surprised and pleased when she greeted
us SO

A. insolence, irately

B. insouciance, cordially
C. graciousness, amiably
D. arrogance, disdainfully
E. querulousness, affably




é‘ 10. These issues are extremely and any knee

jerk reaction will ultimately result in a loss of
for all shareholders.

A. unassociated, curare

B. ambiguous, plutocracy
C. nuanced, opportunity
D. Contexed , serendipity
E. swiveled, stock




MIS-SPELLED WORDS




11. Mental (A) / disordors (B) / have become
Europe’s largest health (C) / challenge (D) / of the
21st century. All correct (E)

(B) Correct Option: B
The correct spelling is ‘disorders’.



12. By created (A) / the most precise (B) / lunar gravity
(C) / map, scientists (D) / hope to find out what is
beneath the lunar surface. All correct (E)

Correct Option: A
Replace 'create’ with ‘creating’.




13. The book is full (A) / of updated (B) / and
contemparary (C) / commentary. (D) / All correct (E)

Correct Option: C
The correct spelling is ‘contemporary’.



14. Now, electronic (A) / mail is becoming the

primary (B) / tool for exchanging (C) / messages. (D)
/ All correct (E)

Correct Option: E
All are correct.



15. Solving the energy challange (A) / requires
behaviour (B) / change and new technological (C) /
approaches. (D) / All correct (E)

Correct Option: A
The correct spelling is ‘challenge’.



Surprise Question of the Day

Students from around the world have increasing
started opting to online education.

A has increasingly started opt to

B have increasing starting opted to

C have increasingly started opting for

D have increasingly starting opting for
E No correction required

Correct Option: C
have increasingly started opting for




W

I Home Work |

A”

0.1. The shopkéeper does not have the toys, I was

(A)Up (B)about (C)for (D)to

Q.2.Books are very often compared. ...... a granary .
(A) with (B) to (C) by (D) at

Q.3. Divide twelve mangoes ...... three boys.

(A) To (B) for (C)between (D) among

Q.4. To reach their village, they have to change

(A) On

a small train at t]
B) to(C)

he junction.
over (D) into



HOME WORK ANSWER

He received timelér’ sup]ilort (a)/from

his elder brother (b)/ who had been
working abroad(c)/for last year (d)/
no error (€)






